(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?

D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

® x2-7x+2

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6




2.

(x+y)(x+y-1) =20 & vr=A] st A7

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y=-5)(x-y+4)

B

x+y=A @1 514

(x+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y+4)




@ x(x-6) @ (x+2)(x-6)
@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




4.  (x+1)2-5(x+1)+6 2 A5Ed5HH?

@) (x-1)(x-2) @ (x+1)(x+2)
® (x-1)(x+2) @ (x+1)(x-2)
® —(x-1)(x+2)

B

x+1 =12 x3stH

2=5t+6=(t-2)(t—3)
=x+1-2)(x+1-3)
= (x-1)(x-2)
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O x+3 @ x+2

@2x

® 2x+3

3)2+6(x—3)+82 xo A7F1¢ F

dxpale] oz Qi

® 3x+2

=x-3+4)(x-3+2)
=(x+1)(x-1)
S+ +(x-1)=2x
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@2x+6 @ 2x-6
@ x2+6 ® 6

2x+4)-159] 29 A%71 A F ARA0] go=

® 2x+8

o
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2
e

B

x+4 =12 22stH
2-2t-15=(t-5)(t+3)
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25 (P 4+ 4?2 +3(x%*+4x) -4 &
o

FoH?

o

D x%+4x @ x-2

@ x> +4x+1 ® x> +4x+3

B

x? 4+ 4x =t 2 | &olH
243t—-4=(-1)(t+4)
= (2 +4x—1)(x% +4x+ 4)
= (% +4x-1)(x+2)2




8. T2 F (x+5)2-2(x+5)-152 4 A2

@x—i—S @ x-5 @ x-1 @ x-7 ® x+4

B

x+5=12 2| gstH
(x+5)2-2(x+5)-15=r2-2—15
=(t-5)(r+3)
=x(x+38)
whebA Q19 x, x+ 8°]Th




(x = 2a)(x + )
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




10. 9= T 2%(x-1)2 -8x(x— 1) + 12 o] QI57F ofd A7

®xr1 @x-1 @x42 @x-2 O x-3

=(x+1)(x-2)(x+2)(x—3)




11.

o] A AL LB H A2y + 42 + 2x(y + 4) - 8 =
(xy+Ax+B)(xy+Cx+D) & W, A+ B+ C+D 9 32 43}
of &,

y+4=1=2 A5

C(y+4)2+2x(y+4)-8

= x%% 4 2xt — 8

= (xt +4) (xt - 2)

={x(+)+4} {x(+4) -2}

= (xy +4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
oftt.




12, (x> —x)?2 - 18(x% — x) + 725 ¥4AA 9] Ho=Z Yt IS o, ¥t
A E9] 27
@ 9 @ 2x+3 ® x+3

@)4x ~2 ® 2(x-3)

B

¥ —x =12 X|2sH
£2-18t+72 = (t—6)(t-12)

=(x+2)(x=3)(x+3)(x—4)
a2+ (x=3)+(x+3)+(x—4)=4x-2




13, (x—y)? - 8x + 8y + 162 QA%EaSHH (ax + by + o)20lth. o uj,
a+b+ o T (F ak I

®-16 @-1 @2 @ 8 ® 12

B \
(x=)? - 8(x—y) + 1614
x-y=A= g5
A?-8A+16=(A-4)?=(x-y—4)
ca=1, b=-1 c=-4
“a+b+c=-4




14. (x-y)?2-12x+12y+36 = (x+ay+b)> L W, A= a, b9 F ab 2]
T

® 2 @1 @) @11 ©16

B ~

x—y=A= 2| gs}H
A?2-12A+36=(A-6)2=(x—y—-6)>
Ta=-1, b=-6

. ab=26




® 2m

(X — 4m)(X + 2m)

(m+n—4m)(m + n + 2m)
= (n—3m)(3m + n)

" (n=3m)+ (3m+n) =2n




16. oA 4(p +q)* -4(p + q)p + p* & YFEdHSte] HE3] HERH

2
@ (p+aq)° @ (p+ 20’ ® (2p+4q)°
@ (p-q)° ® (p-29)°

B ~
p+q=1t2 X2sIH
4p+q)° -4(p+qp+p° =4 —41p + p?
= (2t- p)®
= (p+29)°




17. o923 2(x+3)2-22x(x+3)+ 72 7} (x +a) (x + b) (x +¢) (x + d)
2R)5ENE W, a+b+c+d Y 27

-1 ©-2 0-3 @1 B

B

x+3 =12 g5

£2x% — 22tx + 72

= (tx—4)(tx - 18)

= (x?+3x-4)(x +3x - 18)
=(x-1D(x+4)(x+6)(x—-3)
“a+b+c+d=-14+4+6-3=6




18. —8-7a(a-2)+a*(a-2)*=(a+A)(a+B)(a+C)(a+D) L
g, A+B+C+D & Fotoiet
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= at)?
= (at—8) (ar+ 1)

= (a2—2a—8) (a2—2a+1)
=(a-4)(a+2)(a-1)°
=(a-4)(a+2)(a-1)(a—-1)

S A+B+C+D=(-4)+2+(-1)+(-1)=-4
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19. (a+b)(a+b+3)+2E AFET]

® (a-b+1)(a-b+2) @(a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a—b-2)

® (a+b-1)(a+b-2)

B

a+b=A 2 gs}IH

(F4) =A(A+3)+2
=A% +3A+2
=(A+1)(A+2)
=(a+b+1)(a+b+2)




@ @-6)(a-5) ® (a+6)(a-5)

a-3=A=% *gsIHA
A2-5A+6=(A-3)(A-2)
=(a—6)(a-5)
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A

X — =
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A & 2| %stH

= Ax? + 3Ax — 10A

= A(x* 4+ 3x - 10)
=A(x+5)(x-2)

= (x=2)(x+5)(x-2)
= (x-2)%(x +5)
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23.

(a—2b-3)(a+2b+3) = ANt A2 &2 A2
@ a?24+4b%2-12b-9 @ a?—-4b%2-12b+9
® a2 -4b2+12b+9 @a2—4b2—12b—9

® a®+4b>+12b-9

B

2b+ 3 =A 2} 2| gtH

(a=A)(a+A) =a? - A?
=a?-(2b+3)>
=a® - (40 +12b+9)
=a?—4b*>-12b-9




24. (x+y)(x+y+6)+9E %%
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@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)

B

x+y=A & X5

(£4) =AA+6)+9
=A%+ 6A+9=(A+3)?
= (x+y+3)?




25.

(x=3y)?2 =2x+6y+ 1 5 QI5EofotA?

@ (x-3y-1y2 @ (x-3y+1)?
® (x+3y—1)2 @ (x+3y+1)

® —(x+3y+1)?

B

(FA)= (x—3y)? - 2(x - 3y) +1

x-3y=A 2 Mg}

(FA) =A2-2A+1
=(A-1)2=(x-3y-1)?




26.

@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

= 2x(x-5)(__)

© (x+y)?+3(x+y) +2°04[ |8 A 2 A&7,

O x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)




